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Cause 1: The children are lack
of sleep

Cause 2: The children have
short attention span

Cause 3: The teacher is not
attractive in teaching
the vocabulary lesson

Problem
. |Inattentive children in sprinter

" \level in Vocabulary Class at
Kids2success

Effect 1: The children cannot
understand the
vocabulary lesson

Effect 2 : The children cannot

finish the work on time
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Potential Negative Effect:
The children must eliminate
some activities

Potential Solution I:
» The teacher informs the children

to have enough sleep

Potential Positive Effect:
The children will be attentive
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Potential Negative Effect: Potential Solution II: ) » )
. Potential Positive Effect:
The teacher has to spend more The teacher should be creative ; o
. > ; The children will enjoy the
time to prepare the vocabulary in teaching the vocabulary
vocabulary lesson
lesson lesson
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Potential Negative Effect: Potential Solution Il Potential Positive Effect:

The children will focus to the
reward than the vocabulary
lesson
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The teacher gives the rewards to
the children

The children are motivated to
study the vocabulary lesson
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Chosen Solution:
1. The children have enough
sleep
2. The teacher should be
creative in teaching the
vocabulary lesson
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